
BKS SİLİNEBİLİR GİYOTİN (TEK CAM / ISI CAMLI) HESAPLAMA VE ÖRNEK ÇALIŞMASI (EN: 3000 X BOY: 2701)

Cam Yükselik: 2701 - 256 = 2445 / 3 = 815 

Cam : 3000 - 140 = 2860 Genişlik

Kenet: 3000 - 177 = 2823

Cam Yükselik: 2701 - 265 = 2436 / 3 = 812 

Cam : 3000 - 140 = 2860Genişlik

Cam Yükselik: 2701 - 223 = 2478/ 3 = 826 

Cam : 3000 - 129 = 2871 Genişlik

Baza: 3000 - 169 = 2831

Tambur: 3000 - 55 = 2945

Ana Prol ve Kapağı: 3000 - 6 = 2994

Baza: 3000 - 103 = 2897
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Kenet: 3000 - 177 = 2823

Kenet: 3000 -177 = 2823

Kenet: 3000 - 169 = 2831
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Alt Kasa: 3000 - 66 = 2934

B
a

z
a

: 
8

2
6

+
4
1
=

8
6
7

Y
a

n
 K

. 
A

lt
: 

8
6
7
 +

 7
 =

 8
7
4

Y
a

n
 K

. 
A

lt
: 

8
6
7
 +

 7
 =

 8
7
4

Y
a

n
 K

. 
Ü

st
: 

2
7

0
0

 -
 1

8
8

 =
 2

5
1

2
 -

 8
7

4
 =

1
6

3
8

Y
a

n
 K

. 
Ü

st
: 

2
7

0
0

 -
 1

8
8

 =
 2

5
1

2
 -

 8
7

4
 =

1
6

3
8

Küpeşte Alt Proli: 3000 - 191 = 2809

Küpeşte: 3000 - 182 = 2818


